Exploded view

(7]
Q
|
=
N
()
(2'4
(V)
-
g
[ o=
=
(S
Q
]
=
(7]
(7.}
Q
(o]
)
=
A
(2]
[ ==
<
Q
)
| &
9
©
S
Q.
X
Ll

)
o
©
c
]
O
Y
)
)
v
s
Q
n
]
o
c
(7]
©
ol
L
>

STMB 1011 G

Exploded view 1/3

o D
R fel
/R e
/ Z5s
A~ 4,,// Z 5
S =
) 7¢fg<\
/
/

S

|
|
|
|
|
/

900

www.rmgastro.com

2025-06-10



Exploded view

Explodierte Ansicht | Dessin technique | Rozkres

Vista en despiece ordenado

STMB 1011 G

Exploded view 2/3

2025-06-10 2 www.rmgastro.com



Exploded view AN
Explodierte Ansicht | Dessin technique | Rozkres

Vista en despiece ordenado

STMB 1011 G

Exploded view 3/3




Exploded view

Explodierte Ansicht | Dessin technique | Rozkres

Vista en despiece ordenado

STMB 1011 G

ARTICLE NUMBER POSITION
Umidity probe 6000111 1
Motor for valve 6031017 2
Temperature probe 6000093 3
Drain filter 2028470 4
LH tray rack 2026810 5
RH tray rack 2026809 6
O-ring for washing sprayer 6090160 7
Cooking cabinet O-ring 6090163 8
Washing sprayer 2019791 9
Cooking cabinet seal 7070224 10
Cooking cabinet glass 2025306 11
Intermediate door glass 2030474 1la
Complete door with glass 2025335 12
Upper screen-printed panel 2028275RM 12a
Complete Door Handle 2025009 13
Door handle fixing screws 5111036 13a
Door bolt 2015648 14
Magnet for door sensor 5900351 15
Magnetic door sensor 6042110 16
Touch screen board 6010239 17
On-off switch 6032024 18
Connector for switch 6032025 19
6-way display connector cable 6050077 20
Air Filter 2030709 21
Air filter holder 2030466 22
Socket USB 2,0 6060045 23
Core temperature sensor connector 6000127 24
Connector cap 6060029 25
Core temperature probe 6000131A 26
Contact element for lights (case) 2025251 27
Adjustable foot 5900699 28
Retractable hand spray 7080051 29
Handshower hose 7080021 29a
Shower head 7080053 29b
3 way shuttles solenoid valve 6042145 30
Detergent loading pipe 7090128_250 31
Rinse aid loading pipe 7090130_250 32
Charge pump for cleaning 6042124 33
PVC pipe @5x8mm 7090132_010 34
PTFE pipe @5x8mm 7090125_021 35
PVC pipe @5x8mm for boiler cleaning 7090132_060 36

2025-06-10 4 www.rmgastro.com



Exploded view

Explodierte Ansicht | Dessin technique | Rozkres

Vista en despiece ordenado

STMB 1011 G

ARTICLE NUMBER POSITION
PVC pipe @5x8mm for cabinet cleaning 7090132_010 37
Solenoid valve for softened water supply 6042103 38
Nozzle for boiler 6042095 38a
Nozzle for humidifying pipe 6042095 38b
Solenoid valve for main water supply 6042080 39
Nozzle for washing system 6042087 39a
Flow meter 6042122 40
Fan motor 6033151 41
Fan wheel 5901016_R 42
Cabinet nebulizer 2011807 43
Washer for motor 2013134 44
Motor screw M12 2013133 45
Motor screw M6x55 UNI5739 inox 5114014 46
Drain sleeve @50x4mm 7070107_005 47
Complete Boiler 6003902NC 48
Gasket for boiler 6090166 48a
Boiler lid 6003915 48b
Locking dog 5900124 49
Motor shaft gasket 7070151 50
Hose connector @10mm 1/8in G 7070211 51
Stainless steel Ellbow fitting 1/8in G 7050379 52
Humidifier pipe gasket 2027322 53
Humidifier pipe 2019423 54
Cabinet sleeve @50x4mm 7070107_005 55
Moisture drain sleeve @50x4mm 7070107_010 56
Vent sleeve @50x4mm 7090107_005 57
Solenoid drain valve boiler 6042077 58
Cooling fan 6033176 59
Oven control pcb 6010195 60
PCB connector 7 poles pitch 5 mm 6050661 60a
PCB connector 2 poles pitch 7 mm 6050664 60b
PCB connector 2 poles pitch 5 mm 6050665 60c
PCB connector 3 poles pitch 5 mm 6050660 60d
PCB connector 6 poles pitch 5 mm 6050667 60e
PCB connector 5 poles pitch 5 mm 6050666 60f
Expansion board 6010153 61
PCB connector 2 poles pitch 7 mm 6050664 6la
PCB connector 4 poles pitch 5 mm 6050662 61b
PCB connector 7 poles pitch 5 mm 6050661 61c
PCB connector 5 poles pitch 5 mm 6050666 61d
Lights trasformer 6041099 62

2025-06-10 5 www.rmgastro.com



Exploded view

Explodierte Ansicht | Dessin technique | Rozkres

Vista en despiece ordenado

STMB 1011 G

ARTICLE NUMBER POSITION
Motor inverter board 6010131N 63
PCB connector 7 poles pitch 5 mm 6050661 63a
PCB connector 3 poles pitch 5 mm 6050660 63b
PCB connector 3 poles pitch 7 mm 6050679 63cC
3-way display connector cable 6050089 64
Power relay 6041008 65
Toroidal transformer 6041100 66
Fuse 2A 6060110 67
Fuse 10A 6060111 68
Gray spring clamp 2,5mm? 4ph 6050580 69
Blue spring clamp 2,5mm? 4ph 6050581 70
Electronic radial blower control device 6010125 71
PCB connector 6 poles pitch 5 mm 6050667 7la
PCB connector 2 poles pitch 5 mm 6050665 71b
PCB connector 3 poles pitch 5 mm 6050660 T1c
Toroidal transformer 6041081 72
Green-yellow terminal block 10mm? 6050552 73
Blue terminal block 10mm? 6050551 74
Grey terminal block 10mm? 6050550 75
Electronic noice filter 6090060 76
Safety thermostat 6010026 77
Cooling fan cable 6060024 78
Buzzer card 6010103 79
PFC power supply 8,5mH-8A 6042104 80
Galss spacer 2022543 81
Spacer pin for glass 2024051 82
Lamp Holder 2025342 83
Dirt cover 5900133 84
contact element for lights (door) 2025007 85
Cap of door drip pan 2012707 86
Push-on fitting 7050331 87
Pump for cleaning system 6042120 88
Pump sleeve @19x27,9mm 7090122_006 89
Oven drain solenoid valve 6042073 90
Drain sleeve @28x4mm 7090105_006 91
Cabinet drain sleeve @28x4mm 7090105_007 92
Hex nut M6 self locking DIN 980 5310041 93
Gasket for exhaust flange 2019164 94
Heat exchanger 2019270 95
Gasket fitting burner 2015695 96
Gasket for blower motor 2015768 97

2025-06-10 6 www.rmgastro.com



Exploded view

Explodierte Ansicht | Dessin technique | Rozkres

Vista en despiece ordenado

STMB 1011 G

ARTICLE NUMBER POSITION
Blower for burner 6033180 98
O-ring for gas burner blower 6090120 99
Spacer sleeve for gas burner blower 2015652 100
Gasket for gas nozzle 7070141 101
3/4M straight flange for gas valve 7050017 102
O-ring for gas connection flange 7070158 103
Gas valve 7020205 104
Connecting flange 1/2" for gas valve 7050014 105
Flame control 7020217 106
1/2" nut for bicone ring 7070080 107
Bicone ring @16mm 7070036 108
Double nipple G1/2" 7050315 109
Corrugated hose @16mm 7050454 110
Transformer of lighting 6041095 111
Gas pressure switch 7050005 112
Allen screw A2 M4X6 UNI5931 5111042 113
M4 Safety washer 5249021 114
Ignition electrode 2020498N 115
Monitoring electrode 2020499 116
Burner hot air 2015577 117
Gasket for Burner flange 2015582 118

2025-06-10 7 www.rmgastro.com



